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Question Number : 1 Question Id : 87827049530 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The musculocutaneous nerve does not supply:

. Coracobrachialis

Pectoralis Minor
. Long head of biceps brachii
. Short head of biceps brachii

B T o

Options :

878270194841. 1
878270194842. 2
878270194843. 3

878270194844. 4

Question Number : 1 Question Id : 87827049530 Question Type : MCQ Optjon Shuffling : No Is
Q caiaitensia

Question Mandatory : No Calculator : None Response Time : N.A Think



Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270194841. 1
878270194842. 2
878270194843. 3

878270194844. 4

Question Number : 2 Question Id : 87827049531 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Superior obligue (an extraocular muscle) is supplied by which cranial nerve?

1. Trochlear
2. Abducens
3. Facial

4 Oculomotor

Options :

878270194845. 1
878270194846. 2
878270194847. 3

878270194848. 4

Question Number : 2 Question Id : 87827049531 Question Type : MCQ O Shuffling : No Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270194845. 1
878270194846. 2
878270194847.3

878270194848. 4

Question Number : 3 Question Id : 87827049532 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Superior Gluteal Nerve supplies the following muscle:

1. Gluteas maximus
2. Gemellus inferior
3. Obturator internus
4 Tensor fascia lata

Options :

878270194849. 1
878270194850. 2
878270194851. 3

878270194852. 4
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Question Number : 3 Question Id : 87827049532 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270194849. 1
878270194850. 2
878270194851. 3

878270194852. 4

Question Number : 4 Question Id : 87827049533 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Aplastic anemia is due to

1. Disorder of red bone marrow
2. lron deficiency

3. Vitamin B12 deficiency

4 Folic acid deficiency

Options :
878270194853. 1
878270194854. 2

878270194855. 3

878270194856. 4 .
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Question Number : 4 Question Id : 87827049533 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270194853. 1
878270194854. 2
878270194855. 3
878270194856. 4

Question Number : 5 Question Id : 87827049534 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Fick principle is used as a

1. Method of measurement of vital capacity
2. Method of measurement of tidal volume
3. Method of measurement of cardiac output
4 Method of measurement of blood volume

Options :
878270194857. 1
878270194858. 2

878270194859. 3 .
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878270194860. 4

Question Number : 5 Question Id : 87827049534 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270194857. 1
878270194858. 2
878270194859. 3

878270194860. 4

Question Number : 6 Question Id : 87827049535 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct formula for the alveolar ventilation is:

(Tidal Volume + Dead Space) x Respiratory Rate
(Tidal Volume - Dead Space) x Respiratory Rate
(Tidal Volume + Dead Space) / Respiratory Rate
{

)l
i
3
4 (Tidal Volume - Dead Space) / Respiratory Rate

Options :

878270194861. 1

878270194862. 2
878270194863. 3 @ collegedunia:
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878270194864. 4

Question Number : 6 Question Id : 87827049535 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270194861. 1
878270194862. 2
878270194863. 3
878270194864. 4

Question Number : 7 Question Id : 87827049536 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The protection furnished by society o its members through a series of public measures against social and economic
distresses is called as:

1. Social welfare
2. Social security
3. Social work

4. Social reform

Options :

878270194865. 1
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878270194866. 2
878270194867. 3

878270194868. 4

Question Number : 7 Question Id : 87827049536 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270194865. 1
878270194866. 2
878270194867. 3
878270194868. 4

Question Number : 8 Question Id : 87827049537 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is major effect of "Vrikshasana" pose in Yoga?

. Gives a sense of balance

- Strengthens upper limb muscles
_Improves flexibility of the trunk

. Improves breathing

B T o
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Options :

878270194869. 1
878270194870. 2
878270194871. 3
878270194872. 4

Question Number : 8 Question Id : 87827049537 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270194869. 1
878270194870. 2
878270194871. 3

878270194872. 4

Question Number : 9 Question Id : 87827049538 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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According to Piaget's stages of cognitive growth, 'emergence of language’ is major hallmark of;

1. Sensorimotor stage

2. Preoperational stage

3. Concrete operational stage
4 Formal operational stage

Options :

878270194873. 1
878270194874. 2
878270194875. 3

878270194876. 4

Question Number : 9 Question Id : 87827049538 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270194873. 1
878270194874. 2
878270194875. 3

878270194876. 4

Question Number : 10 Question Id : 87827049539 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0 .
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Correct Marks : 4 Wrong Marks : 1

The action of biceps brachil muscle on the elbow joint is an example of which class/order of lever?

1. First class/order of lever with mechanical advantage

2. First class/order of lever with mechanical disadvantage
3. Second class/order of lever

4 Third class/order of lever

Options :

878270194877. 1
878270194878. 2
878270194879. 3

878270194880. 4

Question Number : 10 Question Id : 87827049539 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270194877. 1
878270194878. 2
878270194879. 3

878270194880. 4

Question Number : 11 Question Id : 87827049540 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Thinge :N.A
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Correct Marks : 4 Wrong Marks : 1

The paralysis of the dorsiflexors of the foot will resultin ... of the affected extremity and there could be
... Guring swing phase of gait

1 functional shortening ; increased knee and hip flexion

2. functional lengthening ; increased knee and hip flexion
3. functional shortening ; decreased knee and hip flexion
4 functional lengthening ; decreased knee and hip flexion

Options :

878270194881. 1
878270194882. 2
878270194883. 3

878270194884. 4

Question Number : 11 Question Id : 87827049540 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270194881. 1
878270194882. 2
878270194883. 3
878270194884. 4

Question Number : 12 Question Id : 87827049541 Question Type : MCQ @ﬁ?”&&ﬁ%‘! Nt



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The superior zygapophyseal facet in a typical lumbar vertbra faces and the inferior zygapophyseal
facet faces  Their orientation limits

1. posteromedially; anterolaterally ; lateral flexion and rotation
2. anterolaterally: anteromedially ; lateral flexion and rotation
3. anteromedially; posterolaterally ; lateral flexion and rotation
4 posteromedially; anterolaterally ; flexion and extension

Options :

878270194885. 1
878270194886. 2
878270194887.3

878270194888. 4

Question Number : 12 Question Id : 87827049541 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e oo S ! 2

1. U S - W o R
) e SR, Y 3 R
3 SR, U, U o R i

Options :

878270194885. 1
878270194886. 2
878270194887. 3

878270194888. 4 ,
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Question Number : 13 Question Id : 87827049542 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following does not cause oedema?

1. Decreased plasma oncotic pressure

2. Decreased capillary permeability

3. Lymphatic obstruction

4 Increased capillary hydrostatic pressure

Options:

878270194889. 1
878270194890. 2
878270194891. 3

878270194892. 4

Question Number : 13 Question Id : 87827049542 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
878270194889. 1
878270194890. 2

878270194891. 3
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Question Number : 14 Question Id : 87827049543 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the maost important rate-limiting enzyme of the glycolysis pathway?

1. Phosphohexose isomerase

2. Phospho fructo kinase

3 Aldolase

4. Glyceraldehyde-3-phosphate dehydrogenase

Options:

878270194893. 1
878270194894. 2
878270194895. 3
878270194896. 4

Question Number : 14 Question Id : 87827049543 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
878270194893. 1
878270194894. 2

878270194895. 3

878270194896. 4 Qcollegeduniag
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Question Number : 15 Question Id : 87827049544 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Is considered an essential component of a rehabilitation program to reduce the risk of
musculoskeletal injury or re-injury during activities that involve high intensity deceleration and quick changes of direction.

1. Isokinetic training
2. Eccentric Training
3. Concentric Training
4 |soinertial Training

Options:

878270194897. 1
878270194898. 2
878270194899. 3

878270194900. 4

Question Number : 15 Question Id : 87827049544 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270194897. 1
878270194898. 2 Qcollegedunias
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878270194899. 3
878270194900. 4

Question Number : 16 Question Id : 87827049545 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The corractive exercise for diastasis recti is:

1. Head Iift in supine position with patient gently approximating the rectus muscle inferiorly with the crossed arms
2. Head Iift in supine position with patient gently approximating the rectus muscle towards midline with the crossed arms
and doing straight leg raising with abducted lower extremeties

3. Head lift i hook lying position with patient gently approximating the rectus muscle towards midiine with the crossed arms
4. Repeated abdominal crunches in supine lying

Options:

878270194901. 1
878270194902. 2
878270194903. 3

878270194904. 4

Question Number : 16 Question Id : 87827049545 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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878270194901. 1
878270194902. 2
878270194903. 3

878270194904. 4

Question Number : 17 Question Id : 87827049546 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The medial glide to the subtalar joint of the foot is used to increase:

1. Eversion

2. Inversion

3. Dorsiflexion only
4 Plantarflexion only

Options :

878270194905. 1
878270194906. 2
878270194907. 3

878270194908. 4

Question Number : 17 Question Id : 87827049546 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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878270194905. 1
878270194906. 2
878270194907. 3

878270194908. 4

Question Number : 18 Question Id : 87827049547 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Monophasic sinusoidal currents introduced by Pierre Bernard are called as:

1. HVPGS (High Voltage Pulse Galvanic Stimulation)
2. Galvanic current

3. Faradic current

4 Diadynamic current

Options :

8782701949009. 1
878270194910. 2
878270194911. 3

878270194912. 4

Question Number : 18 Question Id : 87827049547 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270194909. 1
878270194910. 2
878270194911. 3
878270194912. 4

Question Number : 19 Question Id : 87827049548 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During the application of cold packs, the skin temperature is usually around

. Below 0°C
e
.5-10°C

- 16-18°C

B T o

Options :

878270194913. 1
878270194914. 2
878270194915. 3

878270194916. 4

Question Number : 19 Question Id : 87827049548 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.0°C ¥
2. 0°C

3. 5-10°C

4. 16-18°C

Options :

878270194913. 1
878270194914. 2
878270194915. 3

878270194916. 4

Question Number : 20 Question Id : 87827049549 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Ultraviolet Radiation (UVR) therapy, E3 is:

1. 2.5 times E1
2. 5times E1

3. 10 times E1
4 12 times E1

Options:

878270194917. 1
878270194918. 2
878270194919. 3
878270194920. 4

Question Number : 20 Question Id : 87827049549 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0 .
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Correct Marks : 4 Wrong Marks : 1
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Options :

878270194917. 1
878270194918. 2
878270194919. 3

878270194920. 4

Question Number : 21 Question Id : 87827049550 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pressure is generally used to hasten scar maturation and to minimize scar hypertrophy during healing of burns. But it may
not be required in the case of

1. If wounds heal in less than 10-14 days

I
2. Ifthe scar is less than 6 months old

3. I skin'is grafted over the wound area

4 If scaris still red and shows evidence of vascularity

Options:

878270194921. 1
878270194922. 2
878270194923. 3

878270194924. 4

Question Number : 21 Question Id : 87827049550 Question Type : MCQ Shufflin
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270194921. 1
878270194922. 2
878270194923. 3

878270194924. 4

Question Number : 22 Question Id : 87827049551 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Recommendation for developing and maintaining cardiovascular fitness in healthy adults is:

1. 3 days/week for 40 minutes/day at an intensity of 10-11 on the RPE (Rate of Percieved Exertion) Scale

2. 3-5 days/week for 20-60 minutes/day at an intensity of 12-16 on the RPE (Rate of Percieved Exertion) Scale
3.5 days/week for 60 minutes/day at an intensity of more than16 on the RPE (Rate of Percieved Exertion) Scale
4 3 daysiweek for 20 minutes/day at an intensity of 10-11on the RPE (Rate of Percieved Exertion) Scale

Options :

878270194925. 1
878270194926. 2
878270194927. 3

878270194928. 4
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Question Number : 22 Question Id : 87827049551 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. 3RS (3Hfofd TR 1 &X) THH W 10-11 @1 digal R 20 FFe/fea & fou 3 i

Options:

878270194925. 1
878270194926. 2
878270194927. 3

878270194928. 4

Question Number : 23 Question Id : 87827049552 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are NOT the age-related physiological changes:

1. Loss of motor neurons

2. Reduction in size of Fast twitch Type |l fibres
3. Reduction in size of Slow twitch Type | fibres
4 Increase in non-contractile tissue

Options :

878270194929. 1
878270194930. 2
878270194931. 3

878270194932 4 .
collegedunia:

~



Question Number : 23 Question Id : 87827049552 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad # 4 &F ¥ o/ 9 Ydftd Iy uiady 181 &

1. dicH diEA®IoIRIGe o &fd

2 BT fgg 23y || dqeit & oMeR J 319
3. %l fgg ergy | dgeil & SaR H 319
4. HUHIRITA Had | g

Options:

878270194929. 1
878270194930. 2
878270194931. 3

878270194932. 4

Question Number : 24 Question Id : 87827049553 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is incorrect regarding Boutonniere deformity?

1. It occurs due to rupture of the central slip of the extensor mechanism as a result of trauma or inflammation
2. There is hyperextension deformity at the PIP joint and flexion deformity at the DIP joint

3. Splinting is the first option in closed injuries and in early rheumatoid pathology

4 Surgical repair and reconstruction is required in cases of severe and total rupture

Options :

878270194933. 1
878270194934. 2
878270194935. 3

878270194936. 4 Qcollegeduniaé

~



Question Number : 24 Question Id : 87827049553 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270194933. 1
878270194934. 2
878270194935. 3

878270194936. 4

Question Number : 25 Question Id : 87827049554 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In cervical Upper Crossed Syndrome:

1. deep neck flexors are strong

2. deep neck flexors, rhomboids and serratus anterior are weak
3. pectoralis major and minor are weak

4 lower trapezius Is strong

Options :
878270194937. 1
878270194938. 2

878270194939. 3 .
collegedunia:

~



878270194940. 4

Question Number : 25 Question Id : 87827049554 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hiar gufifads daemr =

1. Hiar iRTGa® fda=me 8id &

2. dial RIS =, TqReard SR 3 SR Gad 8id |
3. FETSTCdI 986 IR Y Gud 8id & |

4 3eR Hoilad! Al sidl 6|

Options :

878270194937. 1
878270194938. 2
878270194939. 3

878270194940. 4

Question Number : 26 Question Id : 87827049555 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The patient is lying prone. The examiner squeezes the calf muscles. The absence of platerfiexion on squeezing calf
muscles indicate:

1. ruptured achilles tendon

2. lateral tibial torsion

3. peroneal tendon dislocation

4. anterior talofibular ligament strain

Options :

878270194941, 1
collegedunia:

~



878270194942. 2
878270194943. 3

878270194944. 4

Question Number : 26 Question Id : 87827049555 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270194941. 1
878270194942. 2
878270194943. 3

878270194944. 4

Question Number : 27 Question Id : 87827049556 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A patient complains of light headednes, nausea and spinning vertigo while lying in bed, furning in bed and bending over to
pick objects from floor. He also feels off balance while walking. He is most likely to have:

1. Benign Paroxysmal Positional Vertigo
2. Migraine
3. Meniere's Disease

4 Vestibular Neuritis
collegedunia:

~



Options :

878270194945. 1
878270194946. 2
878270194947. 3
878270194948. 4

Question Number : 27 Question Id : 87827049556 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270194945. 1
878270194946. 2
878270194947. 3
878270194948. 4

Question Number : 28 Question Id : 87827049557 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegeduniaé

~



Cognition is assessed by testing the following:

(A). Fund of knowledge

(B). Agnosia

(C). Proverb interpretation

(D). Two Point Discrimination

Choose the correct answer from the options given below:

1. (A) and (C) only.
2. (A) and (B) only
3. (A), (B) and (C) only.
4. (B) and (C) only.

Options :

878270194949. 1
878270194950. 2
878270194951. 3

878270194952. 4

Question Number : 28 Question Id : 87827049557 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegeduniaé
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1.%ad (A) 3R (C)
2 @ad (A) 3R (B)
3. ®ad (A), (B) 3R (C)
4. @dd (B) 3R (C)

Options :

878270194949. 1
878270194950. 2
878270194951. 3

878270194952. 4

Question Number : 29 Question Id : 87827049558 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Obligatory Flexor synergy components, observed in upper limb, following Stroke are:

1. Scapular protraction, shoulder adduction, internal rotation, elbow extension, forearm pronation, wrist and finger flexion
2. Scapular retraction, shoulder abduction, external rotation, elbow flexion, forearm supination, wrist and finger flexion

3. Scapular protraction, shoulder adduction, internal rotation, elbow extension, forearm supination, wrist and finger flexion
4. Scapular retraction, shoulder abduction, external rotation, elbow flexion, forearm pronation, wrist and finger extension

Options:

878270194953. 1

878270194954, 2
collegedunia:

~



878270194955. 3

878270194956. 4

Question Number : 29 Question Id : 87827049558 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270194953. 1
878270194954. 2
878270194955. 3

878270194956. 4

Question Number : 30 Question Id : 87827049559 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The term, "tic douloureux” s used to indicate the sharp shooting pain on the face, is a resulf of affection of the following
nerve

1. Facial nerve

2. Trigeminal nerve

3. Trochlear nerve

4 Glossopharyngeal nerve

Options :
collegedunia:

~



878270194957. 1
878270194958. 2
878270194959. 3

878270194960. 4

Question Number : 30 Question Id : 87827049559 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"tic douloureux” a5 1 I TeX TR 2 e U &l T e o fere fova iven 8, o Fpfefig ifpraem avr afvo &

1 3 A

Options :

878270194957. 1
878270194958. 2
878270194959. 3

878270194960. 4

Question Number : 31 Question Id : 87827049560 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegeduniaé

~



consists of repeated cycles of three ventiatory phases; breathing control, thoracic expansion
exercises and forced expiration technique.

1. Functional Breathing Technique

2. Passive Cycle of Breathing Technique

3. Active Cycle of Breathing Technique

4 Manual Hyperinflation Followed by Secretion Clearance

Options :

878270194961. 1
878270194962. 2
878270194963. 3

878270194964. 4

Question Number : 31 Question Id : 87827049560 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270194961. 1
878270194962. 2
878270194963. 3

878270194964. 4

Question Number : 32 Question Id : 87827049561 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Thi e:N.A .
collegedunia:

~



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following intervention facilitates the removal of airway secretions collected centrally?

1. Incentive spirometery
2. Pursed lip breathing
3. Suctioning

4 Manual percussion

Options :

878270194965. 1
878270194966. 2
878270194967. 3

878270194968. 4

Question Number : 32 Question Id : 87827049561 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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) T

3. U0
4. B4 TUId

Options :

878270194965. 1
878270194966. 2
878270194967. 3

878270194968. 4

Question Number : 33 Question Id : 87827049562 Question Type : MCQ Qé"@gwu N:



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The age related decline in the VO; max can be offset by

1. Aerobic training

2. Meditation

3. Relaxation training

4 Periodic assessment of respiratory functions

Options :

878270194969. 1
878270194970. 2
878270194971. 3

878270194972. 4

Question Number : 33 Question Id : 87827049562 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270194969. 1
878270194970. 2
878270194971. 3

878270194972. 4

Qcollegeduniag
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Question Number : 34 Question Id : 87827049563 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

All these are absolute contra-indications to exercise testing except

1. Unstable angina

2. Pulmonary oedema

3. Uncontrolled hypertension
4 Resting tachycardia

Options :

878270194973. 1
878270194974. 2
878270194975. 3

878270194976. 4

Question Number : 34 Question Id : 87827049563 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g & sifafvad T gt eoram wdier o fo fAufia-dad §
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Options :

878270194973. 1
878270194974. 2
878270194975. 3

878270194976. 4

Qcollegedunias
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Question Number : 35 Question Id : 87827049564 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The In plyometric training should be kept as brief as possible for maximum effect.

1. Concentric phase

2. Eccentric phase

3. Countermovement phase
4. Amortization phase

Options:

878270194977. 1
878270194978. 2
878270194979. 3

878270194980. 4

Question Number : 35 Question Id : 87827049564 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270194977. 1
878270194978. 2
878270194979. 3

878270194980. 4 .
collegedunia:
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Question Number : 36 Question Id : 87827049565 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following training feature after ACL reconstruction should be avoided:

1. Closed chain strengthening of quadriceps between 60 degrees to 90 degrees of knee flexion
2. Open chain training of quadriceps between 90 degrees of flextion to 60 degrees of flexion

3. Isometric quadriceps exercises

4. Exercise on continuous passive motion unit

Options:

878270194981. 1
878270194982. 2
878270194983. 3
878270194984. 4

Question Number : 36 Question Id : 87827049565 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
878270194981. 1
878270194982. 2

878270194983. 3

878270194984. 4 Qcollegeduniaé
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Question Number : 37 Question Id : 87827049566 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following technique involves voluntary muscle contractions by the patient in a precisely controlled direction and
Intensity against a counterforce applied by the practitioner?

1. Rhythmic Initiation

2. Muscle Energy Technique
3. Neuromuscular Stimulation
4. Active Stretching Technique

Options:

878270194985. 1
878270194986. 2
878270194987. 3
878270194988. 4

Question Number : 37 Question Id : 87827049566 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270194985. 1
878270194986. 2 Qcollegeduniag
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878270194987. 3
878270194988. 4

Question Number : 38 Question Id : 87827049567 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Affective psychotic disorders include which one of the following?

. Delusional disorder
. Bipolar disorders

. Schizophrenia

- Mental retardation

B T o

Options:

878270194989. 1
878270194990. 2
878270194991. 3

878270194992. 4

Question Number : 38 Question Id : 87827049567 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270194989. 1 :
collegedunia:

~



878270194990. 2
878270194991. 3

878270194992. 4

Question Number : 39 Question Id : 87827049568 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a non-modifiable risk factor for development of COPD?

1. Increasing age

2. Tobacco smoking

3. Exposure to noxious fumes at occupational settings
4 Increased use of biomass fuel

Options:

878270194993. 1
878270194994. 2
878270194995. 3
878270194996. 4

Question Number : 39 Question Id : 87827049568 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
878270194993. 1 @ collegedunia:

~



878270194994. 2
878270194995. 3

878270194996. 4

Question Number : 40 Question Id : 87827049569 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lepra bacilli was detected by:

1. Hansen

2. Ross

3. Robert Koch
4 Reed

Options:

878270194997. 1
878270194998. 2
878270194999. 3

878270195000. 4

Question Number : 40 Question Id : 87827049569 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
878270194997. 1 @ collegedunias

~



878270194998. 2
878270194999. 3

878270195000. 4

Question Number : 41 Question Id : 87827049570 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the context of outcome measures, Is the degree to which an outcome is measuring what it purports to
measure.

1. Reliability

2. Validity

3. Internal consistency
4. Responsiveness

Options:

878270195001. 1
878270195002. 2
878270195003. 3

878270195004. 4

Question Number : 41 Question Id : 87827049570 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Qcollegeduniaé
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Options :

878270195001. 1
878270195002. 2
878270195003. 3
878270195004. 4

Question Number : 42 Question Id : 87827049571 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Atherapist categorizes the patients visiting his clinic according to their blood groups- A, B, AB and O. This is an example of

1. Ordinal level measurement
2. Nominal level measurement
3. Ratio level measurement

4 Interval level measurement

Options :

878270195005. 1
878270195006. 2
878270195007. 3

878270195008. 4

Question Number : 42 Question Id : 87827049571 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegeduniaé
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Options :

878270195005. 1
878270195006. 2
878270195007. 3

878270195008. 4

Question Number : 43 Question Id : 87827049572 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Evidence Based Medicine involves:

1. Integration of best research evidence with clinical expertise and patient's unique values and circumstances
2. Integration of expert opinion with clinical expertise
. treatment based on research evidence and clinical expertise without any regard for patient's values
 treatment based on case-control studies

Options:

878270195009. 1
878270195010. 2
878270195011. 3

878270195012. 4

Question Number : 43 Question Id : 87827049572 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Thi e:N.A .
collegedunia:

~



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270195009. 1
878270195010. 2
878270195011. 3

878270195012. 4

Question Number : 44 Question Id : 87827049573 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

"Equal distribution to all members of a group” comes under the following Moral Principle:

1. Beneficence

2. Autonomy

3. Justice

4 Nonmaleficence

Options :

878270195013. 1
878270195014. 2
878270195015. 3

878270195016. 4

Question Number : 44 Question Id : 87827049573 Question Type : MCQ Shuffling : No
collegedunias



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270195013. 1
878270195014. 2
878270195015. 3

878270195016. 4

Question Number : 45 Question Id : 87827049574 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Progress notes for a patient are written in SOAP (Subjective, Objective findings, Assessment and Plan) Format. Anticipated
goals and expected outcomes are included in the:

1. Subjective

2. Objective findings
3. Assessment

4 Planning

Options :
878270195017. 1
878270195018. 2

878270195019. 3

878270195020. 4
Qcollegeduniag
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Question Number : 45 Question Id : 87827049574 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270195017. 1
878270195018. 2
878270195019. 3

878270195020. 4

Question Number : 46 Question Id : 87827049575 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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The correct sequence at the postsynaptic membrane during neuromuscular transmission at neuromuscular junction is:
(A). Opening of ligand-gated sodium channels

(B). Binding of Actylcholine (Ach) with receptor and formation of Ach-receptor complex

(C). Entry of sodium ions info ECF

(D). Development of endplate potential

Choose the correct answer from the options given below:

A),
A),
),
),

L]

D)
(©)
(D)
(©)

—

B), (C)
B), (
),

=

) (
D
C

{

(=]
L]

A). (C)

(
(
(A).(
(

B e
— —

B), (A), (

=

Options :

878270195021. 1
878270195022. 2
878270195023. 3

878270195024. 4

Question Number : 46 Question Id : 87827049575 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(C
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4 (B), (A

Options :

878270195021. 1
878270195022. 2
878270195023. 3

878270195024. 4

), (C). (

), (D), (
3. (B), (A), (C), (D).

), (D), (C).

Question Number : 47 Question Id : 87827049576 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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On the dorsum of hand, the correct arrangement of tendons (from lateral to medial) is:

(A). Extensor carpi radialis longus and brevis
(B). Extensor digitorum

(C). Extensor pollicis longus

(D). Extensor digiti minimi

Choose the correct answer from the options given below:

1. (A), (C), (B), (D)
2.(C), (A, (B), (D)
3. (B), (A), (D), (C]
4.(C), (B), (A), (D)
Options :

878270195025. 1
878270195026. 2
878270195027. 3

878270195028. 4

Question Number : 47 Question Id : 87827049576 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A), (C), (B), (D
2.(C), (A), (B), (D
3. (B), (A), (D), (C
4. (C), (B), (A), (D

)
)
)
)
Options :
878270195025. 1
878270195026. 2
878270195027. 3

878270195028. 4

Question Number : 48 Question Id : 87827049577 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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If a suitable liquid medium is inoculated with bacterium and incubated, the growth of bacterium follows a definitive course.

The sequence of phases of bacterial growth curve is:
(A). Rate of death exceeds rate of reproduction and the bacterial population decreases due to cell death

(B). Inlag phase, there is an increase in cell size and no increase in cell number. Necessary enzymes and metabolic
intermediates are built up for multiplication o proceed

(C). Cell division slows down and stops due to depletion of nutrients and accumulation of toxic products. There is an
equilibrium between dying cells and the newly formed cells

(D). In log phase, cell numbers increase exponentially or by geometric progression with time
Choose the correct answer from the options given below:

B). (D), (C), (A).
D), B), (C), (A).
B). (A), (D), (C)
C), (B), (D), (A)

[

g )
: )
1| ),
g )

I e

Options :

878270195029. 1
878270195030. 2
878270195031. 3

878270195032. 4

Question Number : 48 Question Id : 87827049577 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270195029. 1
878270195030. 2
878270195031. 3
878270195032. 4
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Question Number : 49 Question Id : 87827049578 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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The correct sequence of 'Ujjayi Pranayama’ is

(A). Close eyes and exhale completely

(B). Hold the breath for a second or two. Exhale slowly and deeply to empty the lungs

(C). Sit in Padmasana with arms outstretched and back of wrists resting on knees
(D). Take a slow deep breath till lungs are completely filled

Choose the correct answer from the options given below:

1. (A), (B), (C),

2. (D), (A), (B), (C

3. (C), (A), (D), (

4.(A), (C), (D), (B
Options :

878270195033. 1
878270195034. 2
878270195035. 3
878270195036. 4

Question Number : 49 Question Id : 87827049578 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2.(D), (A),
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Options :

878270195033. 1
878270195034. 2
878270195035. 3

878270195036. 4

Question Number : 50 Question Id : 87827049579 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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The sequence of vascular events that take place during an acute inflammatory response are:
(A). Persistent progressive vasodilalatation involving mainly the arterioles
(B). Elevated local hydrostatic pressure causing transudation of fluid into the extracellular space

(C). Slowing of microcirculation causing increased red cell concentration followed by peripheral orientation of leucocytes
along the vascular endothelium

(D). Transient vasoconstriction of arterioles

Choose the correct answer from the options given below:

(A
(A
B

D

C
B), (D
A),(D
(A), (B

D

=

), (C), (D). (B)
), 8), D), (C)
), (), D), (C)
), (A), (B). (C)

I e

(
(

Options :

878270195037. 1
878270195038. 2
878270195039. 3

878270195040. 4

(B).
(C).
(C).
(C).

Question Number : 50 Question Id : 87827049579 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
878270195037. 1
878270195038. 2

878270195039. 3

878270195040. 4

Question Number : 51 Question Id : 87827049580 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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The correct order of the valsalva maneuver is:

{A). Closure of glottis

(B). Deep inspiration

(C). Increase in intra-abdominal and intrathoracic pressures
(D). Contraction of abdominal muscles

Choose the correct answer from the options given below:

1. (A), (B), (
2. (A), (B), (

3. (B), (A), (
4.(C), (B). (D

C). (
D), (
D), (
). (
Options :
878270195041. 1
878270195042. 2
878270195043. 3

878270195044. 4

(D
(C
(C
(A).

Question Number : 51 Question Id : 87827049580 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270195041. 1
878270195042. 2
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Question Number : 52 Question Id : 87827049581 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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The sequence of currents in increasing order of frequency will be:
(A). Short wave diathermy

(B). Long duration interrupted direct current

(C). Faradic current

(D). Interferential therapy

Choose the correct answer from the options given below:

1. (B), (C),
2.(C), (A)
3. (A), (C)
4.(B), (D)

D). (A).
D)
B)
(A)

0 m

(

)
)
)
(C)

i
|

)

Options :

878270195045. 1
878270195046. 2
878270195047. 3
878270195048. 4

Question Number : 52 Question Id : 87827049581 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1.(B), (C), (D),
2 (C), (A), (D),
3. (A), (C), (B),
4. (B), (D), (A),
Options :

878270195045. 1
878270195046. 2
878270195047. 3

878270195048. 4
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Question Number : 53 Question Id : 87827049582 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Respiratory alkalosis is best described by the following sequence of events:
(A). Fall in plasma bicarbonate

(B). PaCO3 and H™ fall

(C). Over-ventilation of lungs

(D). Reduced renal Na*/H" exchange

Choose the correct answer from the options given below:

1. (A), (B), (C), (D).
2. (D), (B), (C), (A).
3. (B), (A), (D), (C).
4 (C), (B), (D), (A).

Options :

878270195049. 1
878270195050. 2
878270195051. 3

878270195052. 4

Question Number : 53 Question Id : 87827049582 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270195049. 1
878270195050. 2
878270195051. 3

878270195052. 4

Question Number : 54 Question Id : 87827049583 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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The correct sequence of steps during Adson Maneuver (used for diagnosing thoracic outlet syndrome) are :
(A). The patient's head Is rotated to face the test shoulder.

(B). The examiner locates the radial pulse.

(C). The patient is instructed to take a deep breath and hold it

(D). The patient then extends the head while the examiner laterally rotates and extends the patient's shoulder
Choose the correct answer from the options given below:

(D).
(C).
(C).
 (A).
Options :

878270195053. 1
878270195054. 2
878270195055. 3
878270195056. 4

Question Number : 54 Question Id : 87827049583 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270195053. 1
878270195054. 2
878270195055. 3

878270195056. 4

Question Number : 55 Question Id : 87827049584 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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The steps used in the design of a questionnaire are:

(A). Piloting the questionnaire i.e. giving it to a a few number of people in order to collect feedback on unclear or insensitive
questions.

(B). Initial draft of the questionnaire.

(C). Second pilot trial to establish if earlier problems have been taken care of followed by remodification and design of final
questionnaire.

(D). Modification of the questionnaire using the information collected from the pilot trial.
Choose the correct answer from the options given below:

(A), (B
(A), (B
(A
(B

C), (D).

2= =
=]
]

B
0

I e

).(C). D)
). (0).(C)
(B). (A). (D), (C),
(C), (B). (D). (A)

——

Options :

878270195057. 1
878270195058. 2
878270195059. 3

878270195060. 4

Question Number : 55 Question Id : 87827049584 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270195057. 1
878270195058. 2
878270195059. 3

878270195060. 4

), (D).
), (C).
), (C).
). (A).

Question Number : 56 Question Id : 87827049585 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Which of the following is correct about the umbilicus?

(A). Lymph and venous blood flow upwards above the plane of the umbilicus; and downwards below this plane. These do
not cross umbilical plane.

(B). Itis a normal scar in the anterior abdominal wall formed by the remnants of the root of umbilical cord.
(C). The skin around the umbilicus is supplied by T4 segment of spinal cord.

(D). It is the meeting point of the four (two lateral, head and tail) folds of embryonic plate.

Choose the carrect answer from the options given below:

(A)
(A)
(C),
(B)

(B) and (D) only
(B) and (C) only
and (D) only
and (C) only

1
2
3
4
Options :

878270195061. 1
878270195062. 2
878270195063. 3

878270195064. 4

Question Number : 56 Question Id : 87827049585 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270195061. 1
878270195062. 2
878270195063. 3

878270195064. 4

Question Number : 57 Question Id : 87827049586 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Different factors affecting the respiratory centers are:

{A). Impulses from higher centers

(B). Impulses from baroreceptors

(C). Impulses from chemoreceptors

(D). Impulses from proprioceptors

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (B), (C) and (D) only
4_(A), (B), (C)and (D).

Options :

878270195065. 1
878270195066. 2
878270195067. 3

878270195068. 4

Question Number : 57 Question Id : 87827049586 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270195065. 1
878270195066. 2
878270195067. 3

878270195068. 4

Question Number : 58 Question Id : 87827049587 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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The various forms of "Vertical Social Mobility" are:

(A). Upward mobility

(B). Downward mobility

(C). Intergenerational social mobility

(D). Structural mobility

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C) and (D).
4 (B), (C)and (D) only

Options :

878270195069. 1
878270195070. 2
878270195071. 3

878270195072. 4

Question Number : 58 Question Id : 87827049587 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270195069. 1
878270195070. 2
878270195071. 3

878270195072. 4

Question Number : 59 Question Id : 87827049588 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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What is true about the relationship between "Arousal” and "Performance™?
{A). More the "Arousal”, better is the "Performance” on all sorts of tasks

(B). "Performance " improves with rising "Arousal” only upto an optimal level
(C). High level of "Arousal” is detrimental for "Performance”

(D). "Performance” is an inverted U-shaped function of level of "Arousal”
Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C) and (D).
4 (B), (C)and (D) only

Options :

878270195073. 1
878270195074. 2
878270195075. 3

878270195076. 4

Question Number : 59 Question Id : 87827049588 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



"FHeHT 3R "UGEH" & dig Uay & favg § T 9 67

(A). M® I, 9t UPR & B &1 dear "UeRT o=l ol

(B). Had Uh SFAH TR dd dgal "IueAr & 91y "Ue=H" § GUR gidl ol
(C). = TR @I "I "Ued & o e1fiaR® B

(D). "HER" "Il & TR BT TP Jobitd J-3ATHid BT 5 3

-t fau U fadedl & ¥ 981 IR -

1.@ad (A), (B) 3R (D)
2 ®ad (A), (B) 3R (C)
3. (A), (B), (C) 3R (D)

4. @dd (B), (C) 3R (D)

Options :

878270195073. 1
878270195074. 2
878270195075. 3

878270195076. 4

Question Number : 60 Question Id : 87827049589 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Translation movements between two adjacent veriebrae include:
{A). Side to side translation in the frontal plane

(B). Side to side translation in the sagittal plane

(C). Anterior posterior translation in the sagittal plane

(D). Anterior posterior translation in the frontal plane

Choose the correct answer from the options given below:

1. (B) and (D) only.
2. (A) and (C) only.
3. (A) and (B) only
4. (C)and (D) only.

Options :

878270195077. 1
878270195078. 2
878270195079. 3
878270195080. 4

Question Number : 60 Question Id : 87827049589 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Tl O HLUSH! & A TWIG Sgad & Add &
(A). Tarél 7d § U8 4 g8 &1 AR HaeH

(B). 3FIUY a1 H U¥ ¥ ¥ B 3R ddcH

(C). 3779y T H 3 Uy dgaq

(D). Tae 9 § Y- Uy JdaH

-t fau U fadedl & ¥ 981 IR -

1.@ad (B) 3R (D)
2 &ad (A) AR (C)
3. ®ad (A) AR (B)
4. &4d (C) 31 (D)

Options :

878270195077. 1
878270195078. 2
878270195079. 3

878270195080. 4

Question Number : 61 Question Id : 87827049590 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegeduniaé

~



How rapidly a muscle can develop maximal tension is determined by:
(A). Type of muscle fibers in the motor units

(B). The length of the muscle fibers

(C). Size of the motor units

(D). Fiber arrangement

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C) and (D).

4 (A) and (B) only

Options :

878270195081. 1
878270195082. 2
878270195083. 3
878270195084. 4

Question Number : 61 Question Id : 87827049590 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegeduniaé

~



TP AU i ool ¥ HfidaH dTd fa i o Febdl &, 3eT R g &R foan o &:
(A). TR Z@1edl & FIOURE & dga & ToR

(C). IRV SHTZT @ PR
D). 7 fa=arg
e iiea YW SR -

1. %dd (A), (B) 3R (D)
zﬁmm ) 3R (C)
3. (A), (B), (C) ai‘r{rD
4%?{(%%5

Options :

878270195081. 1
878270195082. 2
878270195083. 3
878270195084. 4

Question Number : 62 Question Id : 87827049591 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegeduniaé

~



The extensor mechanism of a finger includes all these except:
(A). Extensor digitorum tendon

(B). Straight retinacular ligaments

(C). Fibers from dorsal and volar interossei

(D). Ventral aponeurosis

Choose the correct answer from the options given below:

1. (C) only

2. (D) only

3. (B), (C) and (D) only
4 (B) and (D) only.

Options :

878270195085. 1
878270195086. 2
878270195087. 3
878270195088. 4

Question Number : 62 Question Id : 87827049591 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegeduniaé

~



CFIWERUT UshH H FE Uh & Siaikad g4 9iefed g

(A). TGO &S

(B). T IUGHHT WY

(C). UiEmT TG U=i 9 g

(D). AR Bs f[ga

Td feu e fgwedl § 9 981 S| .

1.®ad (C)

2. ®4dd (D)

3. ®ad (B), (C) and (D)
4 &4dd (B) AR (D)

Options :

878270195085. 1
878270195086. 2
878270195087. 3

878270195088. 4

Question Number : 63 Question Id : 87827049592 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegeduniaé

~



Which of the following is correct about Delayed Onset Muscle Soreness (DOMS)?
(A). Muscle soreness and aching peaks at 46-72 hours after exercise

(B). Presence of local cedema and warmth

(C). Muscle soreness and aching begins at 0-2 hours post exercise

(D). Tenderness with palpation over the muscle belly

Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (A), (B) and (C) only.
3. (A), (B), (C) and (D).
4. (B), (C)and (D) only

Options :

878270195089. 1
878270195090. 2
878270195091. 3

878270195092. 4

Question Number : 63 Question Id : 87827049592 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



f3eits e Oga ORAY (313tauy) & faug | Fofafed § 3 &5 91 981 82
(A). SO & 91 48-72 Uel H AUl & 20y 3R g1 TRA W eidl &

(B). T gL 3R THEe

(C). UM & 0 | 2 °2 916 AUkl & 2y ok ¢ IR g s

(D). U 1 HIGUREI WR BIFedl & Iy gReeH

i R faedi § 4 G S A

1.%ad (A), (B) 3R (D)
2 ®dd (A), (B) 3R (C)
3. (A), (B), (C) 3R (D)

4. &ad (B), (C) 3R (D)

Options :

878270195089. 1
878270195090. 2
878270195091. 3
878270195092. 4

Question Number : 64 Question Id : 87827049593 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Which of the following is a characteristic of chi-square test?

(A). Itis a non-parametric test.

(B). It is based on frequencies and not on parameters like mean and standard deviation.

(C). It can be used when individual observations of the sample are dependent.
(D). It can be used for testing hypothesis but is not useful for estimation.
Choose the correct answer from the options given below:

1. (A),
2.(A),
3. (A),
4 (B),

(B) and (D) only.
(B) and (C) only.
and (D) only.

(C) and (D) only

— e e

Options :

878270195093. 1
878270195094. 2
878270195095. 3
878270195096. 4

Question Number : 64 Question Id : 87827049593 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



fFofaiad § € o 1 oR-9R WIg &) [G2wd 82
(A). T8 U AT wdiem g

(B). T8 SRFRal W 311 & 7 feh 71 3R 9@ e o8 Ueal

(C). TH! JUGN 79 a1 o Tahl B S T & odfckvTd Sfaciieh H1d &l

(D). TTH! JUGNT URebeU b T8 o foru T o v 3 cife St o T 9g Suart 12l &
T4 few T fadedl § € W8 S

1. %ad (A), (B) 3R (D)
2 @ad (A) (B) 3R (C)
3 %aa(A)ﬁﬁmn

4 ad (B). (C) 3R (D)
Options :
878270195093. 1
878270195094, 2
878270195095. 3

878270195096. 4

Question Number : 65 Question Id : 87827049594 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a characteristic of normal distribution curve?

1. It1s symmetrical.

2. The mean, median and mode all have the same value.

3. The tails of the curve never reach the honizontal axis.

4 It descents slowly at first from its central point, but then descends down rapidly as the tails of the curve are reached.

Options:
878270195097. 1

878270195098. 2
878270195099. 3 gcollegedunias_

~



878270195100. 4

Question Number : 65 Question Id : 87827049594 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FeTen H ¥ 1 9 FEHI R 3 &1 (ORIl e o7

1. 7¢ ST £

2. He], wfe! iR a5 90 1 5H §9H 5

3. 7 1 3o R oo +f &t afey o T8 g ¢l

4. T TR o g fog ¥ R oI gt &, it a6  offoet R 0 T W ool © e &) ol

Options :

878270195097. 1
878270195098. 2
878270195099. 3
878270195100. 4

Question Number : 66 Question Id : 87827049595 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qcollegeduniaé

~



Match List-l with List-ll

List-l

List-ll

Ascending tract of the spinal cord

Function

(A).Lateral spinothalamic tract

(). Pain and temperature from opposite half of the body

(B).Anterior spinothalamic tract

(Il).vibratory sense

(C). Fasciculus Cuneatus

(I11). Crude touch and pressure from opposite half of the body

(D). Posterior spinocerebellar tract

(IV). Unconscious proprioception to cerebellum

Choose the correct answer from the options given below:

(V)
(V)
(1)

1. (A)- (1), (B) - (1), (C) - (I, (D) -

2. (A)- (1), (B)- (1, (C) - (I, (D) -

3.(A)-(1), (B) - (11}, (C) - (IV), (D) -

4.(A)- (I, (B) - (IV), (C) - (1), (@) - (I
Options :

878270195101. 1
878270195102. 2
878270195103. 3

878270195104. 4

Question Number : 66 Question Id : 87827049595 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



-l BT g D "y FaE SR

- -1l
ol

Hovo ©T SRIe! °ET

(A) TS FEgae Y |(1). TR & faudiard d 95 SR amg

(B). 3@ Hoda® 9y (I1). Fa-TRie o

(C). T gftr®! (). TR F fAodard & smfvspa wet ok geg

(D). U HESTARTSS TY|(1V). TARETSE & [0Y ardo- & 980

R Ty Fe R

(B
(B
N

1. (A)-(l )
)
B)
B

) (N, (C) - (it
2. (A)-(1)

)

|

- (1), (C)y - (1

3. (A)-(l

Options :

878270195101. 1
878270195102. 2
878270195103. 3

878270195104. 4

(D) - (IV)
(D) - (V)

(I, (C) - (IV), (D) - (1)
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Question Number : 67 Question Id : 87827049596 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-l with List-ll

List-l

List-l

Class of Immunoglobulin (Ig)

Feature/Role

(A). 1gG

(). Mediates type 1 hypersensitivity

(B). lgA (I1). Second most abundant class of Ig
(C). IgM (I11). Only Ig to cross placenta
(D). IgE (IV). First Ig produced during primary immune response

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (1), (D) - (IV)

2. (A)- (1), (B) - (1l1), (C) - (IN), (D) - (IV)

3. (A) - (), (B) - (1), (C) - (IV), (D) - (I}

4. (A) - (lll), (B) - (IV), (C) - (1), (D) - (1}
Options :

878270195105. 1
878270195106. 2
878270195107. 3

878270195108. 4

Question Number : 67 Question Id : 87827049596 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong

Marks : 1

gcollegedunias

~



- 31 G-I S 91y e SR

- -l

srgARarae ®f o (Ig) faZraanyfier

(A). 1gG (1). T2 1 HfoHaeAEiadl & Hewy

(B). IgA (). Ig 1 TH I8 UG UHR

(C). IgM (I11). WHRET I TR S aTer 3l Ig

(D). IgE (IV). Wy Ig =it wferelt wfafesar & SR wduys 3o el &
qTﬂfaqTﬂlﬁﬁﬁaﬁiiii?EﬁEﬁ$EEﬁ?

1.(A) - (1), (B) - (IN), (C) - (li), (D) - (IV)
2. (A) - (1), (B) - (11}, (C) - (1), (D) - (IV)
3. (A) - (i), (B) - (1), (C) - (IV), (D) - ()
4. (A) - (lln), (B) - (IV), (C) - (1), (D) - (1)

Options :

878270195105. 1
878270195106. 2
878270195107. 3

878270195108. 4

Question Number : 68 Question Id : 87827049597 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-l with List-ll

List-| List-l

MName of Drug Indication

(A). Baclofen (). Spasticity

(B).Diclofenac  |(Il). Inflammatory pain

(C). Gabapentin |(lll). Central or peripheral neurogenic pain

(D). Amytryptyling|(IV). Depression

Choose the correct answer from the options given below:

1.(A) - (1), (B) - (I), (C) - (1), (

2. (A) - (D), (B) - (111}, (C} - (IN), (D) - (IV
3. (A) - (1), (B) - (IN), (C) - (IV), (D) - (IN
4. (A) - (I, (B) - (IV), (C) - (1), (D) - (Il

Options :

878270195109. 1
878270195110. 2
878270195111. 3

878270195112. 4

D) - (IV

i gt mg® g

Question Number : 68 Question Id : 87827049597 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



- 31 G-I S 91y e SR

- -1l

sufsrsram  [Hod

(A). FFAET (1), SR

(B). STEaa - |(Il). T g

(C). TEMea  |(1). Feig a1 INET dESmI® dg]

(D). THiCHETSA (V). s@dTs

e IR oR T

1. (A) - (

), (B) - (N, (C) - {|||:'
2. (A)- (), (11),

),

Il

(B) -
(B) - |||} (C)-
3. (A)-(), (B) - (1), (C) - {l‘v’) ) -
B

4. (A) - (i), (B) - {WH ) - (1), D}-f.”}

Options:

878270195109. 1
878270195110. 2
878270195111. 3

878270195112. 4

(D) - (IV)
(D) - {l‘v’}
(D

Question Number : 69 Question Id : 87827049598 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-l with List-ll

List-I List-Il

Grades of Maitland s

Mobilisation (Author/Thinker/Name of Theory, etc.)

(A). Grade | (). Large amplitude rhythmic oscillations are performed within the range, not reaching the limit

(B). Grade |l (I1). Small amplitude rhythmic oscillations are performed at the begining of the range

(). Grade (IIl). Small amplitude rhythmic oscillations are performed at the limit of the available motion and
' stressed into the tissue resistance

). Grade V (IV). Large amplitude rhythmic oscillations are performed upto the limit of the available motion and
' stressed info the tissue resistance

Choose the correct answer from the options given helow:

1.(A)-(1), (B)- (1) (C) - (), (D) - (V)

2.(A)- (1), (B)-(1), C)- (V) (D) - ()

3.(A)- (1), (B)-(1), C)- (), (D) - (V)

4. (A)- (I, (B) - (Iv), (C) - 1), (D) - (1)
Options:

878270195113. 1
878270195114. 2
878270195115. 3

878270195116. 4

Question Number : 69 Question Id : 87827049598 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



- B I B FY B SRe

| Gl

Tiets 91 & S| (GEa/aRG/Rigid @1 7, i)

il (). T 7 T o R & iR ST S e oo B &

(B). TSI (I). TRT 1 RS YHT W Y T T SO B &

(). 7= (1. T e Te g Jue T @ W T AR § HR e Hady § sEed 2 Ry 9 &
(D). 351V (Iv). Ze ST Te S JUaE T A €1 990 & R AR Sad Tidy H e &% R 9 &
e few 0 fomedi H 9 W1 SR

1.(A)- (1), (B) - (I1), (C) - (), (D) - (IV

2. (A)- (1), (B)-(1), (C) - (1v), (D) - (I

3. (A)- (1), (B)-(1), (C) - (1), (D) - (v

4.(A)- (I, (B) - (IV), (C) - (1), (D) - (I

Options :

878270195113. 1
878270195114. 2
878270195115. 3

878270195116. 4

Question Number : 70 Question Id : 87827049599 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Match List-| with List-I

(A). D1 Flexion Starting position

List-I List-II
Upper Extremity Diagonal _— .
Pattems (PNF) Description of position
(1). Shoulder fiexion, adduction, external rotation: partial elbow flexion’ forearm supination,

and wrist and finger flexion

(B). D1 Flexion Ending position

and wrist and finger extension

(If). Shoulder flexion, abduction and external rotation; elbow extension; forearm supination;

(C). D2 Flexion Starting
position

(II1). Shoulder extension, adduction and internal rotation; elbow extension; forearm
pronation; and wrist and finger flexion

(D). D2 Flexion Ending position

(IV). Shoulder extension, abduction, and internal rotation; elbow extension; forearm
pronation; and wrist and finger extension

Choose the correct answer from the options given helow:

Options:

878270195117. 1
878270195118. 2
878270195119. 3

878270195120. 4

Question Number : 70 Question Id : 87827049599 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 W

rong Marks : 1

gcollegedunias

~



Tl & 9 T 1 e o

T GGl

ok w2 faal yeu (& .
00

T2 31 foam

(A). D1 3dr @] WRfis Rt

(). T4 ATeH, SRR, 317 0, R BUR HG5ar : Sl S, iR ey AR
S

(B). D1 AT A oo R (1), T AT, SOV R T U R R, - G i Ay o S T R

(C). D2 T ol WA RS (), 5 R, et R e U R SRR <A T AR e SR g

(0). D2 @I Som R {1v). Y TR, ST SR A U TR R S T, R Tty 3R aife yew

Fd fow e foeat & € el SR .
1.(A)- V), (B)- (1), (C) - (), (D) - (11
2.(A)- (1), (B)- (1), (C) - (), (D) - (IV)
3. (A)- (1), (B)- I1), (C) - (V), () - ()
4.(A)-(V), (B)- (1), (C) - 1), (D) - (1)
Options :

878270195117.1
878270195118. 2
878270195119. 3
878270195120. 4

Question Number : 71 Question Id : 87827049600 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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Match List-l with List-ll

List-I List-ll

Coupling Medium for Ulirasound Therapy|Percentage Transmission
(A). Aguasonic/Ultrasonic Gel (). 72.6%

(B). Distilled water (11). 59%

(C). Liquid paraffin (111). 0%

(D). Air (IV). 19%

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})

2. (A) - (1), (B) - (11}, (C) - (11}, (D) - (IV)

3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1T}

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1)
Options :

878270195121. 1
878270195122. 2
878270195123. 3

878270195124. 4

Question Number : 71 Question Id : 87827049600 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias
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- 31 G-I S 91y e SR

- a1l
Wt fafewr & fov g araaute=a dar
(A). TTOHE/IIHE W (). 72.6%
(B). T & (I1). 59%
(C). &T TRt (I11). 0%
(D). I (V). 19%
-d feu e f9@vedl § 9§ 981 SR 9.
1.(A)- (1), (B) - (IN), (C) - {|||:| (D) - (IV)
2 (A) - (1), (B) - |||} (C)- (1), (D) - (IV)
3. (A) - (1), (B) - (I1), (C) - (V). (D) - (Ill)
4 (A)- (1), (B) - {WH ) - (1), (D) - (1)

Options:

878270195121. 1
878270195122. 2
878270195123. 3

878270195124. 4

Question Number : 72 Question Id : 87827049601 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-l with List-ll

LIST

LIST-I

TENS Modes

Specifications

(A). Conventional (High)TENS

(I). Comfortable intermittent paraesthesia as Intensity, 50-100 Hz Frequency, 50-200
Microseconds Pulse duration

(B). Acupuncture-iike (Low)
TENS

(II). 30 mA and more Intensity, 2-5 Hz Frequency, 150-300 microseconds Pulse duration

(C). Brief Intense TENS

(). Intensity to patient's
duration

tolerance, 125-250 Hz Frequency, 200-250 microseconds Pulse

(D). Burst Mode (Pulse trains)
TENS

(IV). 12-30 mA Intensity, 80-120 Hz Frequency, 50-80 microseconds Pulse duration

Choose the correct answer from the options given below:

1. (A)-(V), (8)- (), (G)- (1), (D)- (1)

2.(A)-(1),B)- (), (C)-(n), (B)- (IV)

3.(A)- (1), (B)- 1), (C) - (W), (D) - (I

4.(A)- (1N}, (B)- (IV), (C) - 1), (D) - 11
Options :

878270195125. 1
878270195126. 2
878270195127. 3

878270195128. 4

Question Number : 72 Question Id : 87827049601 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



T 1 T & e R

LGl Ll

CIET gy dfRre

(A). TR (F) KT |(). e & W H SRIERS SR HU¥EE, 50-100 C9 g, 50-200 HEH e UeE Aty

(B). TFNER-99H (ﬁ“&}ﬂ?ﬂ?@(m 30 mA 3R ¥ i, 2-5 ECw Taf, 150-300 WSS Te afy

(C). Wi g AT (). T 25 e @ e, 125-250 FCH 3T, 200-250 TEHIRGE T afy

(D). S TS (47 £78) E9UTUE (V). 12-30 mA A, 60-120 5Ew H1af, 50-80 WSS Teg arafy

RN A T oR
1.(A)- (), (B)- (1), (C)- (i), (D) - (
2.(A)-(1), (B) - (), (C) - (M), (D) - (V
3.(A)-(1), (B) - (), (C)- V), (D) - (il
4.(A)- (I, (B) - (Iv), () - 1), (O) - (I
Options :

878270195125. 1
878270195126. 2
878270195127. 3

878270195128. 4

Question Number : 73 Question Id : 87827049602 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-l with List-ll

List-l

List-lI

Causes of Pyrexia

Diseaszes

(A). Malignant disease

(). Polyarteritis nodosa

(B). Infection

(). Factitious fever

(C). Disease of connective tissue

(IIl). Hodgkin's disease

(D). Self-induced

{IV). Endocarditis

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})

2. (A) - (1), (B) - (11}, (C) - (11}, (D) - (IV)

3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1T}

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1)
Options :

878270195129. 1
878270195130. 2
878270195131. 3
878270195132. 4

Question Number : 73 Question Id : 87827049602 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks :

1

gcollegedunias

~



- 31 G-I S 91y e SR

-1 -1l

SAXDHND T

(A). GSH I (1). afde oftemiiy

(B). HeH (). PIEH T

(C). Tdrell S P1 I|(11). STaide T

(D). THRa (V). 3iagg =

i feT T fadedl H 9 981 IR I

1. (A) - (1), (B) - (I, (C) - {IIIj (D) - (IV)

2 (A)-(), (B) - III} (C)-(, (D) - {I‘u’}

3. (A)- (1), (B) - (1), (C) - {WH )=

4. (A) - (ll), (B) - {WH ) - (1), D}—(ll}
Options:

878270195129. 1
878270195130. 2
878270195131. 3

878270195132. 4

Question Number : 74 Question Id : 87827049603 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-l with List-ll

List-l

List-ll

Special test

Probable structure/Pathology

(A). Posterior sag sign

(). Meniscus

(B). Lachman-Trillat test

(I). Patellofemoral dysfunction

(C). Apley's test

(IIl). Posterior Cruciate ligament

(D). Clarke's sign

(IV). Anterior Cruciate ligament

Choose the correct answer from the options given below:

1. (A)- (1), (B) - (IN, (C) -

2. (A)-(1), (B) - (IlN), (C)

3. (A) - (1), (B) - (IN), (C) -

4 (A)- (), (B) - (IV), (C
Options :

878270195133. 1
878270195134. 2
878270195135. 3
878270195136. 4

- (II:I:

(1, (D) - (V)
(D) - (IV})
(IV), (D) - (IIT)

) - (1), (D) - (1)

Question Number : 74 Question Id : 87827049603 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



- 31 G-I S 91y e SR

it eIl

fa=g wdtem HyTfda wea-nfaptataa=
(A). 9y T fom (1). Tade®

(B). Traa=-fete wiem|q). S-Fo® gleau

(C). Uaelt ST odlamr (). ofdm S 9y
(D). T 5 (1V). oW Safs 91
S R ey Fe R

1. (A) - (1), (B) - (I}, (C) - {|||:I (D) - (IV)

2 (A)-(), (B) - |II} (C)y- (), (D) - {I‘u"}

3. (A)- (D), (B) - (1), (C) - {l"v'i'f ) -

4. (A)- (), (B) - {WH ) - (1), D}—f.”}

Options:

878270195133. 1
878270195134. 2
878270195135. 3

878270195136. 4

Question Number : 75 Question Id : 87827049604 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



Match List-l with List-ll

List-l

List-lI

Condition

Characteristic

(A). Mallet Finger

(). Involves Proximal Interphalangeal Joint

(B). Boutonniere Deformity

(I1). Involves Distal Interphalangeal Joint

(C). De Quervain's Disease

(l1l). More Commeon in Diabetics

(D). Trigger Finger

(IV). Involves abductor pollicis longus

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (IV), (D) - (N1}

2. (A) - (1), (B) - (11}, (C) - (11}, (D) - (IV)

3. (A) - (I, (B) - (1), (C) - (IV), (D) - (1)

4. (A) - (1), (B) - (1), (C) - (IV), (D) - (1)
Options :

878270195137. 1
878270195138. 2
878270195139. 3

878270195140. 4

Question Number : 75 Question Id : 87827049604 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gcollegedunias

~



-l BT g D "y FaE SR

it -1l

ey 0000 (=i

A). Fofe fR (). FER SRy S Siefea &

(
(B). FTGei-aR fdsia|(). grsy Sae-Tean=y S afdfea 2
(C). EHHAIT (). AYHE H AHlde gErg

(D). TR PR (V). 378 sfiad-T genfolt afdfea &

e ey E e

1.(A) - (1), (B) - (IN), (C) - (IV), (D) - (1)
2. (A) - (1), (B) - (Il1), (C) - (1), (D} - (IV)
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (11}
4. (A) - (lin), (B) - (1IN, (C) - (IV), (D) - ()

Options :

878270195137. 1
878270195138. 2
878270195139. 3
878270195140. 4

gcollegeduniag

~



